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ì`mdgm{`H$ AÜ``Z 
BUSINESS STUDIES 

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 8 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >30 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 8 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 30 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) 1 A§H$ dmbo àíZm| Ho$ CÎma EH$ eãX go EH$ dmŠ` VH$ hm| & 

(ii) 3 A§H$m| dmbo àíZm| Ho$ CÎma 50 – 75 eãXm| Ho$ hm| & 

(iii) 4 – 5 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 150 eãXm| Ho$ hm| & 

(iv) 6 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 200 eãXm| Ho$ hm| & 

(v) EH$ àíZ Ho$ g^r ^mJ gmW-gmW hr hb H$s{OE &  

General Instructions : 

(i) Answers to questions carrying 1 mark may be from one word to one 

sentence. 

(ii) Answers to questions carrying 3 marks may be from 50 – 75 words. 

(iii) Answers to questions carrying 4 – 5  marks may be about 150 words. 

(iv) Answers to questions carrying 6 marks may be about 200 words. 

(v) Attempt all parts of a question together. 

1. ‘g§JR>Z Mmho Am{W©H$ hmo `m gm_m{OH$ `m {\$a amOZ¡{VH$, à~ÝY H$s {H«$`mE± g^r g§JR>Zm| _| 
g_mZ h¢ &’ Bg H$WZ _| {Z{hV à~ÝY H$s AmYma^yV {deofVm H$mo nhMm{ZE & 1 
Identify the basic characteristic of management involved in the 

statement — ‘The activities involved in managing an organisation are 

common to all organisations, whether economic, social or political.’ 

2. ì`mdgm{`H$ n`m©daU H$mo J{Verb Š`m| H$hm OmVm h¡ ? C„oI H$s{OE & 1 
Why is business environment called dynamic ? State. 

3. ‘ñdßZm| H$mo V^r gmH$ma {H$`m Om gH$Vm h¡ O~ à~ÝYH$ nhbo go hr `h {ZíM` H$a bo {H$ 
Š`m H$aZm h¡ Am¡a H¡$go H$aZm h¡ &’ Bg H$WZ Ûmam B§{JV à~ÝY Ho$ H$m`© H$m Zm_ ~VmBE & 1 
‘Dreams can be turned into reality only when managers think in advance 

what to do and how to do it.’ Name the function of management indicated 

by the statement. 

4. `moOZm Ho$ Cg àH$ma H$m C„oI H$s{OE Omo {H$gr àH$ma Ho$ bMrbonZ H$s AZw_{V Zht XoVm & 1 
State the type of plan that does not allow any flexibility. 
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5. à~ÝY Ho$ EH$ H$m`© Ho$ ê$n _| ‘g§JR>Z’ H$mo n[a^m{fV H$s{OE & 1 

Define ‘organising’ as a function of management. 

6. g§JR>Z Ho$ H$m`m©Ë_H$ T>m±Mo H$s Cn`wº$Vm H$m C„oI H$s{OE & 1 

State the suitability of functional structure of organising. 

7. {Z ẁ{º$H$aU {H$g àH$ma EH$ {Za§Va MbZo dmbr à{H«$`m h¡ ?  C„oI H$s{OE & 1 

How is staffing a continuous process ? State. 

8. `h Š`m| H$hm OmVm h¡ {H$ ‘A{^àoaUm EH$ O{Q>b à{H«$`m h¡’ ? C„oI H$s{OE & 1 

Why is it said that ‘Motivation is a complex process’ ? State. 

9. {H$Ýht Xmo J¡a-{dÎmr` A{^àoaH$m| H$s gyMr Xr{OE &  1 

List any two non-financial incentives. 

10. ‘O{Q>b `m g§H$Q> {~ÝXþ {Z §̀ÌU’ H$m AW© ~VmBE & 1 

Give the meaning of ‘Critical Point Control’.  

11. ‘{Obm Cn^moº$m {ddmX {ZdmaU \$moa_’ Ho$ JR>Z Ho$ {bE {H$VZo gXñ`m| H$s Amdí`H$Vm hmoVr 

h¡ ? 1 
How many members are required to constitute ‘District Consumer 

Dispute Redressal Forum’ ? 

12. ‘Cn^moº$m’ Ho$ A{V[aº$, Cn ẁº$ Cn^moº$m \$moa_ _| {eH$m`V XO© H$a gH$Zo dmbo {H$Ýht Xmo 
njm| Ho$ Zm_ ~VmBE & 1 

Besides a ‘consumer’, name any two parties who can file a complaint 

before the appropriate consumer forum. 

13. A ~ g {b{_Q>oS> Kaoby Hy$ ‹S>| go {~Obr ~ZmZo H$m H$m`© H$a ahr h¡ & à~ÝYH$m| Ed§ 
H$_©Mm[a`m| Ho$ ~rM H$m`© Ed§ CÎmaXm{`Ëd H$m bJ^J g_mZ {d^mOZ hmoVm h¡ & `hm± VH$ {H$ 
_hÎdnyU© {ZU©` boVo g_` à~ÝYH$ H$_©Mm[a`m| H$mo {dídmg _| boVo h¢ & à~ÝYH$m| H$m 
ì`dhma ~hþV AÀN>m h¡ Bg{bE g^r H$_©Mmar ~hþV Iwe h¢ &   

(a) Cn`w©º$ AZwÀN>oX _| d{U©V à~ÝY Ho$ {gÕmÝV H$m C„oI H$s{OE & 

(b) {H$Ýht Xmo _yë`m| H$mo nhMm{ZE Omo H$ånZr g_mO H$mo gåào{fV H$aZm MmhVr h¡ & 3 
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ABC Ltd. is engaged in producing electricity from domestic garbage. 

There is almost equal division of work and responsibility between 

workers and management. The management even takes workers into 

confidence before taking important decisions. All the workers are 

satisfied as the behaviour of the management is very good. 

(a) State the principle of management described in the above para. 

(b) Identify any two values which the company wants to communicate 

to the society. 

14. dmoëQ>¡H$ B§{S>`m {b{_Q>oS> {~Obr H$s ~MV Ho$ {bE Eb B© S>r ~ë~ ~Zm ahr h¡ VWm 
AË`{YH$ hm{Z _| Mb ahr h¡ & hm{Z go C^aZo Ho$ {bE à~ÝY Zo Bg BH$mB© H$mo Eogo {nN>‹S>>o 
joÌ _| ñWmZmÝV[aV H$aZo Ho$ ~mao _| gmoMm Ohm± l_ ~hþV H$_ bmJV na CnbãY h¡ & à~ÝY 
Zo {~Zm A{V[aº$ _µOXÿar Ho$ H$_©Mm[a`m| go A{V[aº$ K§Q>o H$m`© H$aZo Ho$ {bE ^r H$hm VWm 
BgHo$ ~Xbo _| CÔoí` nyam hmo OmZo na H$_©Mm[a`m| H$s _µOXÿar d¥{Õ H$m dMZ ^r {X`m & ~hþV 
H$_ g_` _| H$ånZr Zo bm^ A{O©V H$aZm àmaå^ H$a {X`m Š`m|{H$ à~ÝYH$m| Ed§ l{_H$m| 
XmoZm| Zo AnZo-AnZo dMZm| H$mo nyam {H$`m &  

(a) Cn`w©º$ AZwÀN>oX _| d{U©V à~ÝY Ho$ {gÕmÝV H$m C„oI H$s{OE & 

(b) Eogo Xmo _yë`m| H$mo nhMm{ZE Omo H$ånZr g_mO H$mo gåào{fV H$aZm MmhVr h¡ & 3 

Voltech India Ltd. is manufacturing LED bulbs to save electricity and 

running under heavy losses. To revive from the losses, the management 

thought of shifting the unit to a backward area where labour is available 

at a low cost. The management also asked the workers to work overtime 

without any additional payment and promised to increase the wages of 

the workers after achieving its mission. Within a short period the 

company started earning profits because both the management and the 

workers honoured their commitments. 

(a) State the principle of management described in the above para. 

(b) Identify any two values that the company wants to communicate to 

the society. 

15. ny±Or ~OQ> {ZU©` H$mo à^m{dV H$aZo dmbo H$maH$m| H$m dU©Z H$s{OE & 3 

Explain the factors that affect capital budgeting decision.  

16. {dÎmr` {Z`moOZ Ho$ _hÎd Ho$ {H$Ýht VrZ {~ÝXþAm| H$m C„oI H$s{OE & 3 

State any three points of importance of financial planning. 
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17. _wÐm ~mµOma Ho$ {ZåZ{b{IV ànÌm| H$m AW© ~VmBE : 3 

(i) ~MV à_mU-nÌ; VWm  

(ii) dm{UpÁ`H$ {~b & 

Give the meaning of the following money market instruments : 

(i) Certificate of deposit; and 

(ii) Commercial bill. 

18. {dnUZ à~ÝY H$s Cg AdYmaUm H$mo nhMm{ZE Ed§ g_PmBE Omo `h gy{MV H$aVr h¡ {H$ 

CËnmX Ed§ godmE± Ho$db CZH$s JwUdÎmm Ed§ ~«mÊS> Zm_ Ho$ H$maU Zht IarXr OmVt, A{nVw 

Bg{bE IarXr OmVt h¢ {H$ do EH$ Cn^moº$m H$s {d{eï> Amdí`H$Vm H$mo g§Vwï> H$aVr h¢ & 3 
Identify and explain the marketing management philosophy which 

implies that products and services are bought not merely because of their 

quality or brand name, but because they satisfy a specific need of a 

customer.  

19. ‘BpÀN>V n[aUm_m| H$mo nmZo Ho$ {bE dV©_mZ kmZ H$m ì`{º$JV Ed§ XjVmnyU© Cn`moJ H$bm 

H$hbmVm h¡ &’ Bg H$WZ Ho$ g§X^© _| dU©Z H$s{OE {H$ à~ÝY H$bm h¡ AWdm Zht &  4 

‘The skilful and personal application of existing knowledge to achieve 

desire results is called art.’ In the light of this statement, describe 

whether management is an art or not. 

20. ì`mdgm{`H$ n`m©daU Ho$ _hÎd Ho$ {H$Ýht Mma {~ÝXþAm| H$m dU©Z H$s{OE & 4 
Explain any four points of importance of business environment. 

21. {Z`moOZ à{H«$`m Ho$ {ZåZ{b{IV Vm{H©$H$ MaUm| Ho$ níMmV², Bg à{H«$`m H$mo nyam H$aZo dmbo 

MaUm| H$mo g_PmBE : 4 

(a) CÔoí`m| H$m {ZYm©aU; 

(b) {dH$mgerb AmYma; VWm  

(c) H$m`©dmhr H$s d¡H$pënH$ {d{Y`m| H$s nhMmZ & 
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After the following logical steps in the process of planning, explain the 

steps required to complete the process : 

(a) Setting objectives; 

(b) Developing premises; and 

(c) Identifying alternative courses of action. 

22. Cn^moº$m g§ajU A{Y{Z`_, 1986 Ho$ AZwgma ‘Cn^moº$m’ H$s n[a^mfm Xr{OE &  4 
Give the definition of ‘Consumer’ as per Consumer Protection Act, 1986. 

23. ^Vu Ho$ Am§V[aH$ òmoVm| Ho$ bm^m| H$m C„oI H$s{OE & 5 
State the merits of internal sources of recruitment. 

24. {Z`moOZ VWm {Z`ÝÌU Ho$ gå~ÝY H$mo g_PmBE & 5 
Explain the relationship between Planning and Controlling. 

25. {ZåZ{b{IV Ho$ AmYma na ‘ny±Or ~mµOma’ Am¡a ‘_wÐm ~mµOma’ _| AÝV^}X H$s{OE : 5 

(i) ^mJ boZo dmbo; 

(ii) àboI; 

(iii) {Zdoe am{e (n[aì``); 

(iv) Ad{Y; VWm   

(v) VabVm &  

Differentiate between ‘Capital Market’ and ‘Money Market’ on the 

following basis : 

(i) Participants;  

(ii) Instruments;  

(iii) Investment outlay;  

(iv) Duration; and  

(v) Liquidity. 

26. EH$ AÀN>o ~«mÊS> Zm_ H$s {H$Ýht nm±M {deofVmAm| H$m C„oI H$s{OE & 5 
State any five characteristics of a good brand name. 
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27. g§JR>Z à{H«$`m Ho$ gmonmZm| H$m dU©Z H$s{OE & 6  

   AWdm 

 Am¡nMm[aH$ Ed§ AZm¡nMm[aH$ g§JR>Z _| {ZåZ{b{IV AmYmam| na AÝV^}X H$s{OE : 

(i) AW©; 

(ii) CX²J_; 

(iii) A{YH$ma; 

(iv) ì`dhma; 

(v) g§àofU H$m àdmh; VWm 

(vi) ZoV¥Ëd & 

Explain the steps in the process of Organising. 

   OR 

Differentiate between Formal and Informal organisation on the basis of 

the following : 

(i) Meaning;  

(ii) Origin; 

(iii) Authoring; 

(iv) Behaviour; 

(v) Flow of Communication; and 

(vi) Leadership. 

28. à^mdr g§àofU H$s _Zmod¡km{ZH$ ~mYmAm| H$m dU©Z H$s{OE &  6 

AWdm 

 {ZX}eZ {H$g àH$ma g§JR>Z Ho$ à^mdnyU© Ed§ Hw$eb g§MmbZ _| ghm`Vm H$aVm h¡ ?  
g_PmBE & 
Describe psychological barriers to effective communication. 

OR 

Explain how directing helps in effective and efficient functioning of the 

organisation. 
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29. EH$ H$ånZr Ho$ bm^m§e {ZU©` H$mo à^m{dV H$aZo dmbo {H$Ýht Mma H$maH$m| H$m dU©Z  

H$s{OE &  6 

                   AWdm 

 EH$ H$ånZr H$s ñWm`r ny±Or Amdí`H$VmAm| H$mo à^m{dV H$aZo dmbo {H$Ýht Mma H$maH$m| H$m 
dU©Z H$s{OE & 

Explain any four factors affecting the dividend decision of a company. 

                             OR 

Explain any four factors affecting fixed capital requirements of a 

company. 

30. {dnUZ {_l Ho$ Mma _hÎdnyU© VÎdm| H$mo g_PmBE & 6 

    AWdm  

 EH$ Cn ẁº$ {dVaU _mÜ`_ Ho$ M`Z H$mo {ZYm©[aV H$aZo dmbo {H$Ýht Mma H$maH$m| H$m dU©Z 

H$s{OE &  
Explain the four important elements of marketing mix. 

    OR 

Explain any four factors determining the choice of an appropriate 

channel of distribution. 


